2005-06-10
Sida 1av 2
MONTERINGSANVISNING STYRPULPET FOR STUVLADA
TILL 400 SPORTSMAN

Art nr 716 400 Styrpulpet med styrror for lada (rattkonsoll och kabelstyrning)

e A
Detta finns packat!
Styrpulpet 1 st
Ratt 1 st
Klammer 1 st
Skruv MRT M6x20 4 st
Bla = Yamaha \ J
= i 4 N\
Orfc.\nge Mer_cury/Marlner Fakta
Gron = Suzuki
Lila = Honda Styrkabelns langd: 3,25m
Gul =TFX 700 Reglagekablarna: 2,75m
(2st, tillkommer)
. J
,—"’/-H . —]
i I
© |
< Il
|
|
|
1 Montera styrpulpeten pa stuvladan med 4st M6x20 skruv i befintlig . © i
halbild. ’ 3 Q o \
2 Fast styrkabeln med klammer i befintlig skruv i relingen. ‘ o &

L.

o
a

Styrpulpets hogra sida, dar re_glage monteras.

Linder Aluminiumbatar AB, Kanotleden 5, SE-362 32 Tingsryd, Sweden, Tel +46 477 190 00, Fax +46 477 103 40



1 Mount the steering console on the stowbox with 4 screws
M6x20 in the existing holes.

o
2 Fix the steering cable with clip in existing screw of the gunwale. ‘

I L
",

Sida
MOUNTING INSTRUCTIONS STEERING CONSOLE FOR

STOW BOX FOR 400 SPORTSMAN

Blue = Yamaha

Orange = Mercury/Mariner
Green = Suzuki

Purple = Honda
Yellow = TFX 700

Right-hand view of steering E:onsole,

where the controls are mounted.

2005-06-10

Art no 716 400 Steering console with steering cable for stow box

2av?2

( )
Contents!
Steering Console 1 pce
Steering Wheel 1 pce
Clip 1 pce
Screws MRT M6x20 4 pcs
g J
e A
Data

3.25m

(2 required)

Length of steering cable:

Control cables: 2.75m




